
Examples This system solves for a collision
consider the following two parametric curies : rather than an interaction . µ
Tj:3?: si;?:

" / same place na
same place (not necessarily

Do these curves intersect? If so , where ? same time) .

Solutionatempt Solution

{
2- It = Is -4

2-2-1=2-1-4{ 3+-12=-12 342--5

This has no solutions . . .

Rearranging frsteg : 1=3 -s

plug into second : 3+19- hosts ) --5



12-65=0 Rink for dealing w/ sin't
,
cos't

5=2 and t -- I in integrals :

checks : 2-24--0 2,-4=0
cosHt ) -- cos't - sin't

31--12--4 5=4 - I - Isin 't

Yes , the curves of intersect @ the point 10,4. ).
= 2 cos't - I

Rearrange : cosy , Itcosl2#
Foodforthought : How would you find

2

a point of self- intersection ? e.g
. if sin 't . 1-eosj .

you
had a parametric curve like L



-

Some comments on area : Some comments on arclength
'
" H¥i

computes the distance traveled by the
particle between times tea and t-- b

.

no!

.

. . s.it#::::::::i:i::i:.ni.
what parameter bounds cause the



particle to trace out the curve § 10.2 51 - 52 :

exactly once .

-

ask for distance traded

- as a function of time t
e"

g:3:'t I!÷t*nH du

these bounds is the distance traveled between time 0

make the particle and time t for#51, for example .

trace out the curve

exactly once .


